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def hasmatch(exp, str)
I ary = str.split(//)
0.upto(ary.length) {|i|
try(exp, ary, 1) {
return |
]
]
nil
end
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def startwithmatch(exp, str)
try(exp, str.split(//), 0) {|pos]

<eturn O>
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def hasmatch(exp, str)
seq = str.split(//) —
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* matchstr([:anysym], "abc") #=>[1]

 matchstr([:anysym], ") #H=> ]

* matchstr([:rep, [:anysym]], "ab¥ncd¥n")
#=>16,5,4,3,2,1,0]

* matchstr([:rep, [:anysym]], "abcdef")
#=>1[6,5,4,3,2,1,0]
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I matchstr(exp, "abcdef")
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[:anysym] == 4]
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def try(exp, seq, pos, &block)

nysym(seq, pos, &

end
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nysym(s
S < seq.length
yield pos + 1
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def try _anysym(seq, pos)

If pos < seq.length K

yield pos + 1 M FDFMMERIE DR
end

end
def try_lit(sym, seq, pos)

if pos < seq.length Kseq[pos] == s%
yieldpos + 1 XFOFMEFIESHD

end
end
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matchstr([:string_start], "abc") #=> [0O]

matchstr([:string_start], ") #=> [0O]

hasmatch([:cat, [:string_start], [:lit, "a"]], "abc")
#=>0

hasmatch([:cat, [:string_start], [:lit, "b"]], "abc")
#=> nil




[ SCFHDFBRADAIE | DY TF

[:cat, [:string_start], [lit, "a"]] <wvFT 3B

/4

a bcde £t




I [ SRS DFTEEDALE I DY YT

[:cat, [:string_start], [:lit, "b"]] [:cat, [:string_start], [:lit, "D"]]

X AR
s XX ox L
T FEEL R AL

j$b€5§-5 N - —
a b c XFEHIED

M N

[:cat, [:string_start], [:Iit, "b"]] [:cat, [:string_start], [:lit, "b"
2w F LA XU LW

= BTG | s 70 | AN
&= T DR VAN = AN A
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_string_start(seq,
Id pos if pos == 0
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def try _string_start(seq, pos)

yield pos if pos == 0| 1 & ¢ 24432
end
def try_empseq(seq, pos)

yield pos {1 1 mEOREALN
end
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* matchstr(exp, str)
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matchstr([:string_end], "abc")#=> |]
matchstr([:string_end], "") #=> [0]
hasmatch([:cat, [:lit, "c"], [:string_end]], "abc")
H=> 2
hasmatch([:cat, [:lit, "b"], [:string_end]], "abc")
#=> nil
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hasmatch([:cat, [:lit, “c"], [:string_end]], “abc")
[:cat, [:lit, “C"], [:string end]]
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def try(exp, seq, pos, &block)
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def try_string_end(seq, pos)

yield pos Kos = Seq. Ien»

end MNEDREIHS
def try_empseq(seq, pos)
yield pos [l >
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matchstr([:line_start], "abc") #=> [O]
matchstr([:cat, [:rep, [:anysym]], [:line_start]],
"a¥nb¥n") #=> [2,0]
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def try(exp, seq, pos, &block)

line_start
e_start(seq, pos, &

end
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def try_line_start(seq, pos) REDIRCTEOTNS

if pos == 0 || seq.length && seq[pos-1] =%

yieldpos  XXFIIDKE  @maimsr=4%n
end TIEWL

end

def try_string_start(seq, pos)
yield pos if pos ==
end
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I abspos® & F

* hasmatch([:abspos, 3], "abcdef") #=> 3
I * hasmatch(
[:cat, [:lit, "c"], [:abspos, 3]], "abcdef")
H=> 2
* matchstr(
[:cat, [:rep, [:lit, "a"]], [:abspos, 3]], "aaaaa")
#=> [3]
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